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QUESTION 1

An administrator needs to export system logs for an ESXi 5.5 host to determine the root cause for a host performance
issue. This host supports manifest-driven exports of system logs.

Which manifest is selected by default during the export system log wizard?
A. Userworld

B. Hostworld

C. PerformanceSnapshot

D. HungvVM

Correct Answer: A

QUESTION 2

To comply with security requirements, an administrator with a vCenter Server Appliance needs to force logoff of the
vSphere web client after 10 minutes of inactivity.

What should the administrator do to meet the requirement?

A. Edit: /var/lib/vmware/vsphere-client/webclient.properties, modify session.timeout=10
B. Edit: /opt/vmware/vsphere-client/webclient.properties, modify session.timeout=600
C. Edit: ivar/lib/lvmware/vsphere-client/webclient.properties, modify session.timeout=600
D. Edit: /opt/'vmware/vsphere-client/webclient.properties, modify session.timeout=10

Correct Answer: A

QUESTION 3

A vSphere administrator creates a new vSphere Distributed Switch. The administrator receives notice from the service
desk that a cluster of vSphere hosts has disconnected from vCenter Server. This disconnect occurred immediately after
the new switch was created. This vSphere Distributed Switch is the only distributed switch managed by vCenter Server.
The virtual machines are still functional and the applications are still accessible by end users.

On the ESXi hosts, which step must the vSphere administrator take to allow vCenter Server to reconnect?

A. Use the Direct Console User Interface to reattach the management vmnic to the appropriate switch

B. Use the Direct Console User Interface to disable lockdown mode on each affected host

C. Use the ESXi Shell to restart the mgmt-vmware service on each affected host

D. Use the ESXi Shell to restart the vSphere Web Client service on each affected host
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Correct Answer: A

QUESTION 4

Refer to the Exhibit.

Machine Prefixes (3) ) New Machine Prefix
Add, edt or delete the prefices used to create machine names. Each blueprint must specify a prefix. Any provisioning group can use any prefix in a biueprint.

Machine Prefix & Number of Digits Next Number
& Cocelieb-GE- 3 0

Three machines have already been created with the Machine Prefix shown in the exhibit.
Based on the exhibit, what will be the name of the next machine?

A. CodeNeb-QE-3

B. CodeNeb-QE-4

C. CodeNeb-QE-004

D. CodeNeb-QE-003

Correct Answer: D

QUESTION 5

An administrator needs to migrate a virtual machine from one datastore to another, but the virtual machine has a
snapshot. The virtual machine is running on an ESXi 5.x host.

Which action must the vSphere administrator take to ensure that the snapshot data remains intact?
A. Perform a standard Storage vMotion migration.

B. Consolidate the snapshot and then perform a Storage vMotion migration.

C. Perform a Storage vMotion migration and then copy the snapshot file to the new location.

D. Delete the snapshot and then perform the Storage vMotion migration.

Correct Answer: A
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